2 & M A

S ApTIETA
HME: AMTE 2ol U FA(SYALSA/HYEL - OfE
el TREA U o popE (9l &2)
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
SR A2 A 2,055,065 2,421,367 A 366,302
SOHE 2] Y R (SEMHLLH/HESA - HE) 935,657 1,305,222 A 369,565
A Y AR 470,020 494,434 A24,414
DES HIE SN 417,020 387,634 29,386
101 el 77,300 77,300 0
10 JIZtNZ22NSEs 77,300 77,300 0
O F&ARY 38,5003 x5 180 34,650
OIfFAARIEY 38,5003 x5 180 34,650
O PSE==) 4,000
o1l =4l 1,000
©2tAald| 3,000
202 Oddl 24,720 20,334 4,386
01 =LAl 24,720 20,334 4,386
O -7 ZSRML HRFX 14,720
0= &g g0 R 10,000
207 SO 295,000 290,000 5,000
03 Algled=Hl 295,000 290,000 5,000
ONFE SR 135,000
OMsE SRAL 90,000
OHOlM= Hiet 50,000
O&™ Jteldl MIRE ¥ 235Y 20,000
405 KHeHH SHI 20,000 0 20,000
01 XA ESESH=HI 20,000 0 20,000
OZYHAAMEH 2(68) 20,000
HSIHE A0 53,000 106,800 A53,800
202 OdHl 3,000 1,800 1,200
01 =LAl 3,000 1,800 1,200
OXZBNHE gF =& 3,000
207 S OHEH 50,000 100,000 A50,000
03 AlE &2l 50,000 100,000 250,000
OUZE ST AP 50,000
ONFE AMEE2 25,000




SN SATRADA
HE: AN 2ol ¥ ZH(SEHSSA/ WSS - O E)
oo XN L oipe Rk
S HE SRS - HRAY - B sl e HlRE2
Ol AMgg=+ 25,000
A B2 465,637 810,788 A 345,151
ANEgoRs 29¢ 125,000 110,000 15,000
206 THZ=HI 20,000 20,000 0
01 M=z 4l 20,000 20,000 0
OF=EER=S 10,000
OHEHECI0IEE(3F) 5,000
OMIALE(28) 5,000
otss 10,000
OPVC= & E (100mm~250mm, 8K 2 ) 10,000
401 A&HIZ =20 105,000 90,000 15,000
01 Al&HI 105,000 0 105,000
oBZ= 30,000
OL% oz BZ WH(750r=+10H) 25,000
Ok 8 b2 wHl 5,000
OoHlss 45,000
OPVC ==& W 20,000
OFIINEE WM S(2AL) 15,000
O wil(208tkd, 14l) 5,000
ORFH2, SH, Jt202 S 5,000
OF+d fl+=EHT EE5 & 10,000
O&EIIA 24 XSS AH14) 20,000
ALY Z2AL B2 30,000 40,000 A 10,000
401 A& HIL=2OY| 30,000 40,000 A 10,000
01 AI&HI 30,000 0 30,000
OF AL L 2e|Ab S& ST A 30,000
AM2S 297,637 253,288 44,349
201 ZEH2IH] 297,637 243,288 54,349
02 223244l 297,637 243,288 54,349
OFAN2E B2R= 297,637
2EXY 2 13,000 7,500 5,500
201 LEH23H] 13,000 7,500 5,500




SN AT T A
B aTE 2ol U FA(SEHSSM/ WL - O E)
ol HA B e (eH9l: 22
DA - EH O (5) - HRAIY - HH2 0l & 2 Soe HDS2
02 =229l 13,000 7,500 5,500
oO2EXE F=4I 8,000
Oxg Ul RANLY 225 2 5,000
HESAHY| (AR AZA)(IIEHIIE 1,119,408 1,116,145 3,263
ol 29| 1,031,088 1,025,361 5,727
S2& oAy X& 965,326 944,670 20,656
101 @IZH| 903,926 882,490 21,436
01 JlE=s 562,794 557,483 5,311
©OF=r=1 524,585
Od=sH(4=2) 66,082,000& x1H 66,082
OBt 199, 351
-53 2,961,300& x1H 12 35,536
-6= 2,485,400 *3H «12& 89,475
-2 2,065,000& x3H x12& 74,340
OAZA 2,246,400 x1H «12& 26,957
OJls& 232,195
-Jlsr=s 1,907, 100& «2H = 12& 45,771
-J|ls8= 1,786, 100& x5 x12& 107, 166
-Jls92 1,423,600«3Y x12& 51,250
-Jls10= 1,167,000& x2H x12& 28,008
o&EzZ=+¢ 458,503,000& *1/12 38,209
02 =¢ 140,559 123,988 16,571
oNn=sg 22,080
OB 2 Xt 40,000& x20H 122 9,600
ORLIt=E 20,0003 *52H x12& 12,480
ostHl B x g 13,031
O=sHH 52,000 x6H 43| 1,248
QLS 420,790 x7Y 43| 11,783
OFSFatt = PN =) 21,000
O254E 0] & 130,000& «3H «12& 4,680
0O20~25= 0| &t 110,000& 6 x12& 7,920




SN AT A
. HESIEH (MR ATRA)(DIEHDIE
chol: o2l 2ot (et9l: &2
DA - EH O (5) - HRAIY - HH2 0l & 2 Soe HDS2

O15~20= 0] ¢ 80,000 x3H x12& 2,880
O10~15= 0] &t 60,000& x6H x12& 4,320
O5~104 0| et 50,0003 x2H = 12& 1,200
OREZR=H (23 40,000 x2H 12 960
olif==RA=Y 18,335,000& *4.8%*12& 10,561
OREsRIASY 50,0003 x1H = 12& 600
OJl=g=2sY 2,400
OLT=; 50,0003 x1H = 12& 600
o673 30,000& x5H x12& 1,800
o gR>g 80,000& x1H = 12& 960
oot~ 300
O&IIUHHMEXEHA 15,0002« 1H =12& 180
Ofg=otd 2te| 10,000& *1¥ +12& 120
QAlZteZ2R2Y 7,325 x20H 25 A| 2+ x12F 43,950
O =] 56,1753 *8H *1102 *1/2 24,717

03 JAHZAH| 32,760 32,760 0
O&F M ZAH| 130,000 *21H = 12& 32,760

04 nE2 =4l 30,120 30,120 0
O53 140,000 1H = 12& 1,680
o6~7= 130,000& 6 x12& 9,360
OAZAL 130,000& «x1H =12& 1,560
OJls7= 130,000 2 x12& 3,120
OJls8~102 120,000& *10Y x12& 14,400

05 YWEESIHYI 45,851 45,957 A 106
OZEFIHI 458,503,000 *1/12%120% 45,851

06 JHAHIRI&HI 76,418 76,749 A 331
O It AKX A Bl 458,503,000 *1/12%200% 76,418

07 GHItE2 AHH| 15,424 15,433 A9
OIS 4| 15,424
Od=H 46,257,000& *1/30%1/12x 11 1,414
Os&H 458,503,000 *1/30%1/12% 11 14,010




SN SATR AT A
By #HSAAY| (SARETA)(IIEHIIE)
CHel: o2 2ol (EHo): & 2
SN -BH - S(B) - MRAY - BES Ofl &k 04 e HRE2
203 YRE| 8,000 8,000 0
TEEEEEEET 3,000 3,000 0
0% 3,000
02 BEIIMYLEDY| 800 800 0
O AL RE Y| 40,0002 +20% 800
M SASYYLEIY| 4,200 4,200 0
ORNEYYRETY| 350, 0002 * 122 4,200
204 meLHAL) 53,400 54,180 AT80
SEEEEERSEL 6,000 6,000 0
04% 400, 0002 1% # 12 4,800
CPIE=E 100, 0002 12+ 12 1,200
02 HZEEH| 36,000 36, 180 2180
042 400, 000212 122 4,800
@52 250,002 +1% * 122 3,000
062 155, 0002 +3% * 122 5,580
o72 140,000 +3% » 122 5,040
O A 55,0002 12+ 122 1,860
©71572 140, 00091 %2 » 122 3,360
©7158-92 105, 0002 +8% * 122 10,080
0715102 95,0008 +2% 122 2,280
SEELE T 11,400 12,000 A600
orfele st 50,0002 %192 » 122 1,400
Mo el 65.762 80,691 ~14,929
101 Q12| 65.762 80,691 ~14,929
EPP =R =E 65,762 80,691 A 14,929
CElV 38,5002 +32§ 2552 29,453
o802 29,453,002 %4/ 12 9,818
ORSFEYLLY 38,5002 +32 +522 6,006
OUANRIEIN+E 38,5002 +3% * 162 1,848
CERIEL RS 38,5002 +32 #1221 #150% 2,079
oA R4 7,219%1+20 Al 2H+3% * 122 5,198
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